| N of reco track vs normalized x2 | | N of associated (recoToSim) tracks vs normalized x? N of associated (recoTosim) looper tracks vs normalized X

1%} F (%] F %] F [%]
x x o < x
] g g g
e ¢ 5 :
s ¥ £ S0

I [=%
10°F 10 3

3

10°F 1
10%F

o
T
['4
! 0 O 10111
6 18 20 ) 8 20 ) 16 18 20 "0 2 4 6 8 10 12 14 16 18 20
track x2 track x2 track x2 track x?
P 2 2
S S S
E10%k i £
Y o w i)
2 % 810
10 frmest X 10* i =
: i =
10°% e s ¥ 103 gy 10
2 2 i
10 10°F 2
; ey gty
10 v L - 10
;
Qo - v )
g : it ity
o v 1 / o-vofiiil i q o
2 ..::W@:::;;:::::::::::::::::::::::: £ ..::W@?:::u::::::::::::::::::::::: £
S R W o i R &
i |||'\iiii'i|| AT T Hitt T |||||||m||| U it
HIITI U 1 AT I T, 1 ISR




	Contents
	Page 1


